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- 2NaHCO, —Na, CO, + CO, + H,O - 2NaHCO, —Na, CO, + CO, + H,O
»p.259 168[kg] 44[kg] 168[kg] 44[kg]
6t sl 312.48[kg] X [kgl 312.5kg] X [kgl
168X =312.48 X 44, X = 81.84[kg] 168X =312.48 X 44, X = 81.84[kg]
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(1)L=20[m], D=50 [mm]
2000 [L/min] (2)L=40[m], D=80 [mmx 2000 [L/min]
(3)L.=60[m], D=100[mm]
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APX D*ST
6.053 <10 X L

1.85 _ _
@ 6.053x<10' <L Q0=
AP DT L
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6.053 10" X I,
AP, X DA8T %
Q= 2742) 185 o o= (
6.053 10" X L,
AP<DIST L
Q 3 3 185 5 o= (

6053 10" < I,

APX Cl .85><D4.87
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0.1 x50*%7
6.053 10" %20

0.1 %807
6.053 % 10" x40

0.1 100*%7
6.053 % 10" %60
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)18 0=4.4032C

1
)18 < 0=10.4324C

1
)18 < 0=15.0769C'

« OHe] ]3] 2000=4,4032C+10.4324C+15.0769C

29.9125C=2000

.. C=66.8616

@, = 4.4032C= 4.4032 < 66.8616 = 294.4049 = 294[¢/min]

@, =10.4324C=10.4324 < 66.8616 = 697.5269 = 698[¢/min]

@, =2000— 294 — 698 = 1008[¢/min]

Q, =294[¢/min],

@, = 698[¢/min], @, =1008[¢/min]
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(4)H e =3

(81a) Q. =60[¢/min]
P, =350+ 14.64 = 364.64 [k Pa)

() @, = 122.32[¢/min]
P, = 379.29416.44 = 395.73 [k Pal
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13.5

(BHA) Q=1.96x10"* x \/2><9.8>< (T_ 1) X0.75 0.7

=1.8598 < 10" *[m?/s] = 1.86(¢/s]
HE) 1.86[0/s]
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(5HA) Q= K/10P,240 = 100 X

10< (0.6 x—x)

(B1A) Q= KV10P,240 = 100 < /10 < (x —0.6)
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(514)

Q= (5x5x4)[m'] x0.32[kg/m'] + 2[m] X 2.4[kg/ ']

= 201.60[kg]

(H4)
Q= (5x5x4)[m] x0.32[kg/m'| + 2[m’] x 2.4 [kg/ ]
= 36.8kg]
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16.09[kW]
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